
VA -17092021www.AIRBO.eu
Hermesweg 11A 
4051 BV Ochten

+31 (0)85 902 00 00 
info@airbo.eu

23L DRUM DUST

9

3

2

1

6

4 5

16

14
13

10
11

20

22

21

8

POS. ITEM no.  DESCRIPTION QTY.

1 500452 DRUM BASE (PAINTED GRAY) 1

2 500171 DRUM LINER 3

3 500173 DRUM LINER PUNCHED FOR BAG CONNECTOR 1

4 500907 NO8 X 5/8 INCH LONG POZI PAN PLASTITE SCREW

5 500832 23L CONTAINER 1

6 500779 TOGGLE FASTENER 2

8 500172 M5 X 12MM LONG POZI PAN COUNTERSUNK SCREW 2

9 500938-1 3 INCH CASTOR 4

POS. ITEM no.  DESCRIPTION QTY.

10 500178 NO6 X 3/8 INCH LONG POZI PAN SELF TAP SCREW 1

11 500179 BLANKING CAP FIXING WIRE 1

13 500178 NO6 X 3/8 INCH LONG POZI PAN SELF TAP SCREW 1

14 500138 BLANKING CAP 1

16 500914 BAYONET BAG CONNECTOR 1

20 500182 BLACK CRANKED BUCKET HANDLE 1

21 500181 SPACER BUCKET HANDLE 2

22 500917 M5 X 16MM LONG POZI PAN SEMS SCREW 2

SPARE PARTS


